
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

2.722 × ________ = 27.22 5.54 × ________ = 5540

8.574 × ________ = 857.4 2.442 × ________ = 2442

9.229 × ________ = 922.9 10.403 × ________ = 10403

4.18 × ________ = 41.8 3.097 × ________ = 309.7

4.835 × ________ = 483.5 2.429 × ________ = 2429

2.826 × ________ = 28.26 9.011 × ________ = 9011

10.195 × ________ = 101.95 10.294 × ________ = 1029.4

8.421 × ________ = 842.1 1.378 × ________ = 13.78

10.975 × ________ = 1097.5 7.525 × ________ = 75.25

3.046 × ________ = 304.6 5.642 × ________ = 5642
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

2.722 × 10 = 27.22 5.54 × 1000 = 5540

8.574 × 100 = 857.4 2.442 × 1000 = 2442

9.229 × 100 = 922.9 10.403 × 1000 = 10403

4.18 × 10 = 41.8 3.097 × 100 = 309.7

4.835 × 100 = 483.5 2.429 × 1000 = 2429

2.826 × 10 = 28.26 9.011 × 1000 = 9011

10.195 × 10 = 101.95 10.294 × 100 = 1029.4

8.421 × 100 = 842.1 1.378 × 10 = 13.78

10.975 × 100 = 1097.5 7.525 × 10 = 75.25

3.046 × 100 = 304.6 5.642 × 1000 = 5642

www.snowmath.com

https://www.snowmath.com

